Ratio to CMS

do/dE[ub/GeV]

=
o
S

=
o
w

10?

10

0.5

13000 GeV pp_ Soft QCD_

EM energy spectrum(-6.6 <n < -5.2)

Rivet 3.1.10, = 2.3M events

m CMS
---0-- Pythia 6.428 345 S
—A— Pythia 6.428 370 A

Pythia 6.428 ambtl
—— Pythia 6.428 z2

mcplots.cern.ch [arXiv:1306.3436]

_II_ I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII|

N

IIIIIIIIIIIIII_—II_IIIIIIIII IIIIIIIII IIIIIIIII IIIIIIIII IIIIIIIII IIIIIIIII IIIIIIIII I

% —0.5
T B/ VR

O 500 1000 1500 ~ 2000
Electromagnetic energy [GeV]



	Contents
	Page 1


